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919 {9 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

fdsr : R g7 % g7 &7 & [ qag ST [[wey g

Direction : Answer the following questions by selecting the most appropriate option.
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[

o

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.
(4) Guidance is  assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking
(2) Perceptual thinking
(3) Creative thinking
(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.
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(4) STAYNTHS — TROMED — Scded
—> STRPROTHS

T P Fer & “Afka e
AR fsia ygkdt & A &7 7

(1) 5T B (2) sifaae

(3) AT (4) Bed

frfofag & § f9-a1 fomg & Hed
T /g U B 7

(1) fawma & oftagdw ffeq &ar 2
(2) foemmETeT® Yot AIgEigAd B gl

(3) RPFwe e, ugEEd e @t
qa | el Heheqel Bl Bl

(4) @ URUFEAr T A @
SE BT R

Level-2/201

GET IT ON
Google Play

4. Which is the oldest method for the
study of behaviour ?
(1) Experimental method
(2) Clinical method
(3) Psycho-physical method
(4) Introspection method

g

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

|®

Which one of the following is the

correct logical order of observational

learning process according Learning

Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

[~

Who stated that "Personality is the
sum total of innate and acquired
dispositions" ?
(1) Mortin Prince
(3) Valentine

(2) Allport
(4) Cattell

|

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.
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Girls surpass boys physically in :

(1) Infancy

(2) Later childhood
(3) Early childhood
(4) Adolescence

Out of the following which one is
the subject matter for study of
Gestalt Psychologist ?

(1) Cognitive processes

(2) Consciousness

(3) Mental and behavioural
processes a wholes

(4) Modes and  problems of
existence

11. What did Freud consider the paternal

love of girls ?

(1) Oedipus complex
(2) Electra complex
(3) Narcissism

(4) Feeling of dependence

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance
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Which of the following is the
characteristic of introverted thinking
type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct

sequence given by James Lange's

"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight ?

(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
is not the stage of creativity
prescribed by Gordon in his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation
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(1) Tt & X EF & dEd 2

(2) ST AFIGH BT B TERE FRA o
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(4) S FB IBA G a1 QT &8 4
TRHIN TG & U € 95 H=rE
P AMETHAT BNl B
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(1) 10 § 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

4) 8 § 10 T

Frefifad & & @991 & g &
frares gdierr &1 SR 78 ® 7

(1) ST TR T

(2) HIE B A [SoNET TUHT
(3) 9 O/ ghET

(4) U TAIST e

S g & FgER S== oy
1§ o T faehied Y & ?

(1) 63 8a9
(2) 89 1099
(3) 78 9a9
4) 119 1499

21. I8 8 ®a1 o1 & ‘U AR SOl

U F gREAE B & Riom d
I B9 G R e T g ?
(1) T (2) feawEts
(3) b (4) A
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Out of the following which one

characteristic not suits to gifted

children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) 8to 10 years

(3) 7to 9 years

(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman (2) Dearborn

(3) Buckingham (4) Calvin
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= & i 8Y Haffe ged
oAl @l SEC Mepld Bl TshAT B
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(1) Giafe R

(2) HidlEE Hagasiadr

(3) @iafes ==

(4) Giafe ame

23. F=fafad & @ #9-d1 @6 Tl

foe Suge 7@ & ?

(1) e aferar faene & Aaget Rafa
Ya BT

(2) fqaRial & ueei & SAX

(3) T TEEN
(4) Fem ® foar-foud

A SR g1 ghEe § fhew @
freifRa & ?

(1) 12 (2) 10
(3) 30 4) 31
25. Jferp wREE & M & w7 § R
ST ST B 7
(1) 3o Tdo UMSEH
(2) TS
(3) &d
(4) SHie

QAIREARGE qeheile B SAfIhR e
fepar o ?

(1) So Fo TIETEA

(2) So TFo HIRA

(3) 3o dlo TAH

(4) Sfto THo AMIX
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What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

21.

eY

. URFEH & AIAR

i & TS
faepre @ AT SR - R ?
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(2) YedM SAM YA Hife
(3) UREH B 9™ B
(4) I T RERaT

@ B e @ Be-H
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(1) raraeen

(2) SrEET

(3) fopeIaeen

(4) rereren

29. W9 HE e AU R qen R

H el T8 TR A & e S
& HY AT & T T8 IFIHT BT
e B, O 39 TER H R HE-d
SR Sl V& giekT el § 7

(1) TreTiRTeT

(2) 9&9o

(3) Sfifer e

(4) faeames

frefofeg & @ ®9-o1 @R &7
g 99 fqeR 78 B ?

(1) STt & HH

(2) qasT
(3) T I
(4) BT
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21. Which is the fourth stage of psycho-

social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

30. Which one of the following is not

the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering

Level-2/201
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31. b HEEra® G w0 R 35. =1 § § F-4 )= ‘o SuEd @

FfRTaTes e H g © ¢ i 78F 8 ?
(1) seus 2) B (1) srgaics— (2) aﬂaﬁ
(3) ted (4) T @) o @) o
so. P Ry & @R am D 7 &gﬁﬁﬁﬁmﬁwaﬁrwﬁw
(I)Wﬁ'ﬂﬁlﬂ%l ‘ (1) ‘%’EETB?EHTUTW‘TTT’%I
(2) AR gA emel @ § =) ) et @ @ o AieE ot §
(3) & Gehel & &l AEH S & % A B
(4) TR ST AT A B 3) @ A T B} oo &R A A
ST B
TR ?
(1) TRl - 37. 19 fIpeT & O 9= fRet € 7
) S5 - & (1) ofroars, 70, qad
(2) FRR, SRR, Heml
(3) foeie - &9
. . (3) THRH, STHEH, TEX
(4) g (4) foean, g, gl
34. GUE-E # e § IH-A1 A 2. i a3 gt ¥ o e
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(1) BUHTEN - BT | = ATl HI0 (1) S - o, <6,
(2) oFT - g & S A (2) STEHX - &9, a4, 7
(3) IRRT - 3 B | AR (3) T - WA, wg@, g
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a1 fou a ¥ wdem el oglr ® 7 (4 T =T+
(1) gl g% & el a8 B 45. 1 & @ frm o] @ ofd W 78
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(3) foram s @ R, ' R v T AN . .
ER US|
4) W F FB Al & T
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42. AW = # I q ogET TW (3) R & TENT Ui 9 ST -
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6.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

9l. Choose the appropriate preposition
to fill in the blank :
What i1s the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up

........... in this village.

[12]
3T (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Choose the correct option to fill in 49
the blank : T
This pen is both good ........ cheap.
(1) as well as
(2) as well
(3) but only
(4) and
41. Select the appropriate preposition to 50
fill in the blank :
His hut is ......... hotel Taj.
(1) above
(2) out
(3) besides
(4) beside 5L.
Choose the correct meaning of the
underlined words :
The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the 52
bud. '
(1) To plan in detail to stop a threat
(2) To destroy the problem in the
initial stage only
(3) To arrest the culprits
(4) To stop something harmful in
the initial stage

Level-2/201

(4) broken off
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53. Choose the part of the sentence
which is incorrect :

The party president made
(@)
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

Choose the part of the sentence
which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill
in the following :

I had consulted my lawyer before I
<veveee... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

56. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[13]

51.
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[A]

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with

(2) do away with
(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :

One who wastes a lot of money is :
(1) frugal
(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/201
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III (PART - III)

YWY 3TE (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

[dsr : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

6l. U dX P T=E 66 HeX g, o 39 61. The length of a wire is 66 metre,
X 9 §9Q &7 969 g 1.32 9+t then the number of circles of
a3 EJ_?]T H ger L circumference 1.'32'cm that can be
(1) 1000 2) 50 made from the wire is :

(1) 1000 (2) 50
(3) 500 (4) 5000 (3) 500 (4) 5000

62. 140 Hex I W’Eﬁ H A 62. A train 140 metre long is running at
60 fHi /aver &, 3@ 260 HeX = 60 km/hour. How much time will it
TEHH B IR B K fhawr @6 take to pass a platform 260 metre
o ? long ?

(1) 18 TFvs (2) 24 TFTS (1) 18 sec (2) 24 sec
(3) 30FFE  (4) 32 qHS (3) 30 sec (4) 32sec

63. Uh hUeT fasbar 33 HieX DUST éﬁﬁh_{ 63. A cloth merchant on selling 33 metre
11 deX #98 & fospt q % e of cloth obtains a profit equal to the
A U B AqT B, A IGH selling price of 11 metre of cloth.
qeId © - The profit percentage is :

(1) 11% (2) 22% (1) 11% (2) 22%
(3) 50% (4) 40% (3) 50% (4) 40%

64. qﬁ4g’5qm6q1%aﬁqzﬁq;ﬁq% 64. If 4 men or 6 women can do a piece
que gifeq ad & 12 B § &< of work in 12 days working 7 hours
THT § O o ad @ S ZFI?-Sl a day.1 I:Iow marlliytdgys wili it take_:ﬁ

complete a work twice as large wi
10 god 4 3 A 8w g 10 Ir)nen and 3 women v%orking
F e e R A T &Y w7 together 8 hours a day ?
(1) 6 (2) 7 (1) 6 ) 7
(3) 8 “4) 9 (3) 8 “4) 9

65. ¥ x:1+1\/§ B, A x2+2x+3 65. If x:1+1\/§ , then the value of
H IE B - x> +2x+3is:

(0 2) 1 (10 ) 1
(3) 4 4) 2 (3) 4 4) 2

Level-2/201
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66. 7 &Y oI H T[T IS BT :
CAE, HFJ, MKO, RPT, ....

(1) UTY (2) WUY
(3) vuz (4) WUZ

61. U &RFKEN A, B, C, D @1 E #, A,
B @ BieT Ak E § @1 8, C 999
@1 8, D, B & BleT & AfFT A 9
T B, @ 37§ BN g9 Bler § 7
(1) B 2) A
3) D 4) E

68. Th THEGYS & URAM 100 T B
AR SEE wh fowet 40 |9 @
SHH 8% ®
(1) 300 ¥H°  (2) 600
(3) 780 ¥ (4) 900 T’

69. o fsErg dW q T & & ¥ wedd
forsremg o s e o @ 1:3
T T A H ST 2 ;5 B 3 AW
fersrergett Y e ergur # e S,
dfe 9 fgag § d@ T &
AT 3: 8 B W ?
(1) 3:5 (2) 4:9
3)4:7 “4) 3:8

70. A § %@ ‘98 deH AU AEET B U

& U B, AT PE AT oAl afes W
B TH, A T hg UHR grag B 7

(1) =r=n 2) 3
(3) T (4) IO R

71. 9 Ao § 7 H@en S iR
135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 (4) 739

Level-2/201
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[A]
The next term of the following letter
series will be :
CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) vUzZ 4) wuz

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
is shortest ?
(1) B
3) D

2) A
4) E

The perimeter of a rhombus is
100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm® (2) 600 cm®

(3) 780 cm® (4) 900 cm?

69. Two alloys are both made up of

copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5 (2) 4:9

3) 4:7 “4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. Find the wrong number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 4) 739
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12.

eY

Z 5,000 W 12% oIS =T $f &< 9

2 9 & QERY AN T BhalG I
§ =Y B

1) 272 (2) T 84
(3) 296 4) 36
a GEa & A 520 g, A S

:t:l)

S "e @ 4% FH B QA W
AR BA A 12% g1 Rar g, @
Wwwﬁ,ﬁwﬁ@(

BIdl G § ¢

(1) 210 (2) 240
(3) 270 (4) 300

fefafeg 9ot § 79 9©
G4T, J9R, M20P, P41N, S90L
(1) J9R (2) M20P

(3) P4IN (4) S9OL

75. T g9 F TNrE, ACE T4 TR

AT 19 B, T 3E@ A
et @ 79 55 & R, @ gE
I S ©

(1) 36139°  (2) 286

(3) 236dH°  (4) 340’

Ik Th Al 8 fHHT RO H SR
T WH JeRT 8 Ol S B, g
Tt IR Yedk 10 fedt oo ©, @t
I8 B a5 & e Rem 7 B 7
(1) ga-aferer (2) IRy

(3) STR-GRT  (4) afroT-ufvem

Level-2/201
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The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on ¥ 5,000 for two
years will be :

(1) T72
(3) 96

(2) % 84
4) 36

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller

number is :
(1) 210 (2) 240
(3) 270 (4) 300

Find the wrong term of the following
series :

GAT, J9R, M20P, P4IN, S90L
(1) J9R (2) M20P
(3) P4IN (4) S90L

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 5J5 cm, then
its surface area is :

(1) 361 cm® (2) 286 cm”
(3) 236em®  (4) 340 cm’
If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks

10 km. In which direction is he from
starting point ?

(1) East-South (2) North-East
(3) North-South (4) South-West
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17. TSH B TH Uod H, A I T 9
153 91 B i % @ 919 N W
2, Td A TN B B HH O de T,
C, A & THsH g X B, @ C &l
fRofy gt s w2 ?
(1) 9t (2) 104t
(3) 124t (4) 134t

18. Uh A U4 B AR 2 fEdl = ®
R g8 s fRem § gea 1 fe
T & X a8 @ R gea 2
fFfl =i &, I9% 9% 98 SOX fesm
¥ gea 4 fdl @@ 31 o a8
yRfe farg & feal QX @81 & 7
(1) 5 fi (2) 6 Tt
(3) 3 fi (4) 4 Tt

79. & W = 23, STRONG = 93, @
WEAK &K ® :
(1) 40 (2) 41
(3) 43 (4) 44

80. zri%sa+i=5,a‘r9a2+ - &

3a 25a
g9 ® :
51 29
(1)? (2)?
52 39

(3)? (4)?

8l. HAfeql @@l & [GaE & @K W

‘qeguE] e SFF o & ded A
S arl 0§

(1) 11,000 3R (2) 21,000 T
(3) 31,000 & (4) 51,000 B

Level-2/201
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[A]

71. In a row of boys, A is 15th from the

left and B is fourth from the right.

There are three boys between A and
B, C is first left of A. What is the
position of C from the right ?

(1) 9th (2) 10th

(3) 12th (4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) Skm (2) 6 km

(3) 3km (4) 4km

If W = 23, STRONG = 93, then
WEAK is equal to :

(1) 40 (2) 41
(3) 43 4) 44
80. If 5a+L:5, then the value of
3a
9a’ + = IS :
25a
51 29
1) — 2) —
(D 5 (2) 5
52 39
3) — 4) —
3) 5 “4) 5

81. The amount which is given to the

sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000 (2) Rs. 21,000
(3) Rs. 31,000 (4) Rs. 51,000

P.T.O.
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1857 & T B G AGLeaH @
RSO

(1) LEER & (2) HEETR 4

(3) R | (4) FGTR A

83. ®Eq, 2021 H AN ‘3641 T

AR Tudferd AftqeER § sRarn
59 1 fhae @l e o ?

1) 13 (2) 18

(3) 21 4) 24
frfafag & § @9 efamn & Haifye
Ay 3 forg oo @ B 7

(1) dto THo =ehadil

(2) To ARo FEas

(3) S Geligar

(4) A & qaH

85. ERAMM difey oTHEHT & SRk H

STERI Bl @l ey

(i) el oTheHl & Fege & &Y
P FA ol

(i) ‘s’ STepEHt &t U B

el Fe I

(1) 399 FI9 (i) T& ©

(2) B9 FAF (i) T &

(3) & (1) WM 7 & (i) T& B
(4) A FuT T E

‘Jegdl’ HE e sRamem § et
Reg & ?

(1) Jqaq ¥

(2) S ¥

(3) &9 #

(4) FoFTE §

Level-2/201
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hero of 1857 Revolution
Abdurrahman Khan was related to :
(1) Bahadurgarh (2) Farrukhnagar

(3) Jhajjar (4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National

Junior  Athletics Championship',
which was held in February, 2021 ?
(1) 13 (2) 18

3) 21 4) 24

84. Who among the following was the

longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki

85. Read the following statements about

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i1) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (ii) is correct

(3) Neither (1) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh
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81. ‘TIERT IoFE &= e B § R B 7
(1) T (2) e
(3) far (4) R

88. ERAMM &l H3l URg H AW HEH
& T ©
(1) 10 2) 12
(3) 14 (4) 06

89. Fr=ifafad & & @-@/&M-4 ™
@& /8 7

(i) W9 9 - 0 R
(il) GTEl g g STHIRYT — Hod
(iii) FET a9 g SAFARTG — FoolX

F&] FT B AT BT :
(1) %= (i) (2) (i) iR (iii)
3) (i)aﬁ'{(ii) 4) ?baa(ﬁi)

s0. feiiifem @1 gaf T :

™ =
(A) 9REq F T qed (1) AR
(B) STreicds (i) THI™
RPRGRI
(C) AR T== (iii) TR
(D) Qe & b (iv) qAd
%<
A B © @D
(1) Gy  Gi)  Gv) @)
(2) (i) (@Gv) @@ (i)
(3) Gv) G  Gi) @)
(4) (i) Gi) @G (v)

[19]

87. In which district the

GET IT ON
Google Play

[A]
'Chinkara
Breeding Centre' is situated ?

(1) Kaithal (2) Panchkula
(3) Hisar (4) Bhiwani

. The minimum number of members

in the Council of Minister of
Haryana can be :

(1) 10
3) 14

2) 12
4) 06

89. Which of the following pair/pairs

is/are true ?

(1) State Animal — Black buck

(i1) Saraswati Wild Life Sanctuary —
Kaithal

(i11) Nahar Wild Life Sanctuary —

Jhajjar

Choose the correct code :

(1) Only (i) (2) (1) and (iii)

(3) (i) and (ii)) (4) Only (iii)

90. Match the following :
Name Place
(A) Birbal's Rang (i) Narnaul
Mahal
(B) Spiritual Museum (ii) Gurugram
(C) Chor Gumbad (iii) Yamunanagar
(D) Sohna Fort (iv) Panipat
Code :
A B © @O
(M Gy @) aGv) @
() @) Gv) @ ()
3) av) ) @) @
@ i) () @@  (aGv)

Level-2/201
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T - IV (PART - 1V)
AMR% e (PHYSICAL EDUCATION)
3% : R g7 % a7 &7 & [ qag 3T [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91. TOIY WS H IWRT fhT SIM al e
% ara @ gfaied e o

(1) 3T e (2) SHHE
(3) (4) fo=it
92. RN 2020 FHERIA SNaiiies Sl
el o ?
(1) FEes 9% @
(2) 99 Sl a9 A
(3) T3eE o1 FHIAH
4) FAEes T’ daRaRe
93. fr-fafed & #F-w1 faeE @
gt © ?
(1) faefs @
(2) e
(3) faerfm ¢
(4) Tt I T ¥
e Sad’ &I ofafy 6 er ST
T ?
(1) 9&a 30 fee
(2) 49T % B 45 e

(3) e & 9% & Ued 30 e
(4) STER &% 9% & Yoo 30 e

Level-2/201

9l1.

92.

93.

94.

Principle of buoyancy used in

Aquatic sport is established by :
(1) Issac Newton(2) Archimedes

(3) Aristotle (4) Vinci

What was the motto of Tokyo 2020
Summer Olympic games ?

(1) United by Sport

(2) One Olympic One Nation

(3) United by Emotion

(4) United by Teamspirit

Which vitamin is soluble in fat ?

(1) Vitamin 'B'
(2) Vitamin 'C'
(3) Vitamin 'E'
(4) All options are right
What is

'golden hours' ?

the period referred as

(1) First 30 minutes
(2) First 45 minutes of admission
(3) First 30 minutes after incident

(4) First 30 minutes after treatment
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95. FAdllgd @ef I YT

EIRC Siew 11
L - SESrRRd () dio %o To THo
M- HRERE () I% AT
N - sageRd (1) He-=
O-gHERd  (IV) g& T St

(1) L-IIL, M-I1, N-1, O-IV
(2) L-III, M-IV, N-II, O-I
(3) L-II, M-III, N-TV, O-1
(4) L-II, M-I, N-III, O-TV

frfafeg & & @9-d g @ A
7& T 7

(1) THda (2) o= FE
(3) E (4) T

97. Hfedlell N1 o IR ofdf®d @al &
el AW fordm @ ?
(1) 1896, udg
(2) 1900, IR
(3) 1904, de T-d
(4) 1908, ded

Jee 7 AR H R oMER W
i fepa ?

(1) e @

(2) faEen & o0

(3) QST

(4) @@= B

Level-2/201
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[A]

Match the correct combinations of
answer :

Column I Column II

L - Hydrotherapy  (I) T.E.N.S.

M - Cryotherapy (I) Ice Massage
N - Electrotherapy  (III) Whirl-pool Bath

O - Thermotherapy (IV) Microwave
Diathermy

(1) L-1II, M-II, N-1, O-IV
(2) L-III, M-IV, N-1I1, O-1
(3) L-1I, M-II1, N-1V, O-1
(4) L-II, M-I, N-1I11, O-1V

Which of the following is not a style
of leadership ?
(1) Democratic (2) Free rein

(3) Consistency (4) Autocratic

97. When did women first compete in

the Olympics Games ?
(1) 1896, Athens

(2) 1900, Paris

(3) 1904, St. Louis
(4) 1908, London

On what basis did Sheldon classify
personality ?

(I) Anatomy

(2) Modesty properties

(3) Sociality

(4) Skin Complexion


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

[

[

[

[
(=]

[A] [22]
99. W 3 T8 ﬂﬁﬂ'\’ : 99. Match the correct combinations of
3 answer :
T 1 St 11 Column I Column II
L - S B 3G BT (1) S L - Energy Yielding (I) Inorganic
M - Body building ~ (II) Vitamin
M - SRR feHioT (D) foer N - Protective (IT) Cellulose
N - HEES (I11) St
O - Roughage (IV) Carbohydrate
O - T (IV) FHEIeRSe
(V) PG| (V) Protein

(1) L-IV, M-V, N-II, O-II
(2) L-II, M-IV, N-1, O-V
(3) L-III, M-V, N-I, O-I
(4) L-V, M-I, N-1V, O-III

frfafag & § &9 foafe @ @
qIY 52T ol © 7

(1) &9 (2) THIX

(3) TTER (4) e

HierT B9 fFe S et & ?

(1) 2l (2) Jsfiies

(3) gesa (4) T

AT & A9 92 S 6 HH, T9b
qqieRer 2, e § ¢

(1) T 1 Eie™

(2) W

(3) gd W

(4) FEMR 95 ==

‘T Y e S § e
g & °?

(1) 2= (2) M
(3) ST (4) drat
‘gifear M0 I ® ¢

(1) oI (2) GSTE T
B) sEPT W (4) TN H

Level-2/201
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(1) L-IV, M-V, N-II, O-III
(2) L-II, M-IV, N-1, O-V
(3) L-III, M-V, N-I, O-I
(4) L-V, M-I, N-1V, O-III

Which of the following is richest
source of Vitamin C ?

(1) Apple (2) Tomato

(3) Guava (4) Banana
Kalinga cup is related to which
sport ?

(1) Hockey (2) Badminton
(3) Football (4) Golf

The three factors of disease i.e.
Agent, host and environment are
called :

(1) Disease history

(2) Pathogenesis

(3) Prepathogenesis

(4) Epidemiological triad

'‘Ezra cup' is related to which of the
following sports ?

(1) Tennis (2) Golf

(3) Chess (4) Polo

"Dandia" is a popular dance of :

(1) Gujarat (2) Punjab

(3) Haryana (4) Rajasthan
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ol
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eY

RS ST Th T el d
98d BRIRHE Bl & PEH g8 ' 9
M B

(1) 7 (2) Heasiea
(3) (4) faepies At
T fosld ot o° 991 ® & @
G B ©

(1) wsfa f=ia

(2) FaeR =i

(3) Refoe= Rsia

(4) iFa f=ia

o 9 & GrauE B § ?

(1) foq feees

(2) gaEE Tho fad
(3) AT A ™
(4) SR ARo efam

Ww%wu«w I A
H HAE T A §

(1) 50 9% (2) 49 &8
(3) 52 ¥%s (4) 60 TS

% Qe vy & wy SRS

frem @l Sfieicar e S ©

(1) Jsnfvep fosia

(2) weifve SHaTT

(3) AFgaETE! gfteehror

(4) G-I IETHH

9§ Th THN B GRET dAd TH
HE P JedX ST 7, 39 s @
el T B

(1) 9% i faferear

(2) AN & TqIAA

(3) AR &I JgferTpar

(4) 9% H FAewAd
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[A]

Glycogen-loading is found very
advantageous in an activity which
predominantly involves :

(1) Speed (2) Endurance

(3) Strength (4) Explosive power

The theory which believes that

leadership is inherited :
(1) System Theory

(2) Behavioral Theory
(3) Situational Theory
(4) Trait Theory

Who is the founder of the Davis
Cup ?

(1) Bill Tilden

(2) Dwight F. Davis

(3) Dwight Sabin Davis

(4) Gerard R. Davis

What is the normal playing time of
the full version of Indian National
Anthem ?

(1) 50 Seconds
(3) 52 Seconds

(2) 49 Seconds
(4) 60 Seconds

What provides vitality to physical
Education as an academic
discipline ?

(1) Scientific Principles

(2) Philosophical backup

(3) Humanistic approach

(4) Sports-Oriented curricula

When one type of training improves
one factor only, the principle is
called :

(1) Specificity of load

(2) Simplicity of load

(3) Individuality of load

(4) Complexity of load
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11. The World Health Day is celebrated

on:
(1) IstOctober (2) 7th April
(3) 7th May (4) Ist August

12. 'Libero' term is used in :
(1) Basketball (2) Volleyball
(3) Baseball (4) Softball

13. Sociological Foundation of Physical
Education describes :
(1) Body type
(i1) Motor learning
(i11) Competition and cooperation
(iv) Socialization process
Code :
(1) (1) and (iv) (2) (i1) and (iv)
(3) (1) and (iii) (4) (ii1) and (iv)

14. Which of the following helps in

1

accident control ?

(1) Trip Safety Guard

(2) Automatic Safety Guard
(3) Interlock Safety Guard
(4) All options are right

15. Which of the following year is called
as the year of first Olympics ?

(1) 884 B.C. (2) 776 B. C.
(3) 779B.C. (4) 784 B. C.
116. "Carbohydrate loading" wused by

o

athletes for :

(1) Spending energy during hard
physical workout

(2) Generating energy per unit of
time

(3) Getting energy from the blood

(4) Storing energy in muscles
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[A]

The National Integration Day is
celebrated on :

(1) 19 November (2) 19 October
(3) 19 December (4) 9 November

Bone i1s broken into several

fragments are called :

(1) Complicated fracture

(2) Comminuted fracture

(3) Depressed fracture

(4) Greenstick fracture

The Task and relationship oriented

categories are under which type of
leadership theory ?

(1) Behavioral Theory

(2) Trait Theory

(3) Situational Theory

(4) Lemark Theory

Who is the newly elected first woman

president of International Table-Tennis
federation ?

(1) Petra Sorling

(2) Monalisa Mehta

(3) Monika Batra

(4) Cindy Leong

A disease that spreads from one
generation to another is known as :
(1) Communicable disease

(2) Infectious disease

(3) Hereditary disease

(4) Deficiency disease


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

M

[A]

122. 3gTGRA RN H g @ §
(i) g—wmﬁmﬁ L IUISE D
(i) 3gT-TRel SR &1 STHd Ja
X @ o
(i) BT & des ARME & i
SHAHL Hald bl

(iv) T &R & GiERET & o e
SEET H GAR B

F& TASM & 9 T

(D) aya i) (2) @a (1)

3) (i) ad (v) (@) ()T (ii)

fpel ot meem @ [T AWe e

HCT USEE & 9 X9 § A SN
arT HE 7 ?

(1) ga= (2) ™ET
(3) A (4) A

gee U& ST Gl (S=go To Slo
o) H Y Red &

(1) gt (2) T
(3) sod (4) fagem

ga SUER SRR H dHM-ET &R
g7

(1) " FHemer

(2) fad® Farer

(3) JeirEeh Harer

(4) Tf I TEd &
fRrefTe @1 e © -
(1) 39T Yferew

(2) swRfREm Rieafiem
(3) TEMIET A
(4) ST HicwaH

Level-2/201

[
N

[
[N

[
N

bt
N

[26]

122.

[
N

=
N

=
N

=]
D

GET IT ON
Google Play

The primary goal of intramural

competitions are :

(1) To Participate in Inter-school
competition

(i) To provide Intra-School
competition experience

(ii1) To provide opportunity for mass
participation of students

(iv) To improve sports performance
for higher level competition

Find the correct combination :

(1) (i) and (i11) (2) (1) and (i1)
(3) (ii1) and (1v) (4) (1) and (iii)

Setting standards for any
performance in which phase of
management :

(1) Leading
(3) Planning
The headquater of World Anti
Dopping Agency (WADA) is
situated at :

(I) New York
(3) Brussels

(2) Controlling
(4) Organizing

(2) Quebec
(4) Vienna

At which level rehabilitation is

applied in intervention ?
(1) Primary prevention
(2) Secondary prevention
(3) Tertiary prevention
(4) All options are wrong

The causative agent for syphilis is :
(1) Treponema Pallidum

(2) Bacterium Ribinoporium

(3) Multiporium Derma

(4) Treponema Sulphium
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Study of Joints is called :
(1) Biomechanics (2) Myology
(3) Arthrology (4) Ornithology

Hepatitis is an infection of the :

(1) Stomach (2) Pancreas

(3) Liver (4) Duodenum
Which one of the following factors

leads to osteoporosis among women
athletes ?

(1) Eating disorder

(2) Amenorrhoea

(3) Insufficient calcium diet

(4) All options are right

Which of the following is not a
name of COVID-19 vaccine ?

(1) COVAXIN (2) NOVATAX
(3) MODERNA (4) JANSSEN
Who won the U. S. open Tennis
2021 in female category ?

(1) Emma Raducanu

(2) Leylah Fernandez

(3) Naomi Osaka

(4) Petra Kvitova

What do you mean by Amenorrhoea ?
(1) Deficiency of R. B. C.

(2) Deficiency of calcium

(3) Absence of Menstruation for 3-6
months

(4) Deficiency of W.B.C.

Which law of learning is also called
the law of use and disuse ?

(1) Law of readiness

(2) Law of effect

(3) Law of intimacy

(4) Law of exercise
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Surya Bhedan Pranayam refers to :
(1) Left Nostril Breath

(2) Right Nostril Breath

(3) Revitalizing Breath

(4) All options are right

The control centre of cell is :

(1) Golgi body

(2) Nucleus

(3) Mitochondria

(4) All options are right

What is the number of Hurdle jumps
in steeplechase ?
(1) 28

3) 24

(2) 26
4) 29

In which type of tournament a team
once defeated, automatically get
eliminated from the tournament ?

(1) Challenge (2) League
(3) Knockout (4) Combination

Padmasana is also known as :

(1) Konasana  (2) Naukasana
(3) Kamalasana (4) Pathasana

Who said, "Health is quality of life
that enables the individual to live
most and serve best" ?

(1) Charles A. Bucher
(2) B. C.Buck

(3) J. F. Williams

(4) Hitchcock
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What is the full form of F.A.T. ?
(1) Female Athlete Technology
(2) Female Acceptance Triad
(3) Female Athlete Training
(4) Female Athlete Triad
Which of the following
included in Ashtang Yoga ?
(1) Niyam (2) Dharana
(3) Neti (4) Samadhi
The Union Ministry which controls
the National Anti Doping Agency :

(1) Ministry of Environment, Forest
& Climate change

(2) Ministry of Youth Affairs & Sports

(3) Ministry of Health & Family
Welfare

(4) Ministry of Home Affairs

Scoliometer is used to measure :

1S not

(1) Strength
(3) Scoliosis

(2) Speed
(4) Scorposis curve

Match the correct combination of

answer
Column I Column II
L - Hypoxia (I) Alveolar
Ventilation
M -Dead Space  (II) Ventricular
Diastole

N - Cardiac Cycle (III) Amount of air
inhaled in one
inspiration

O - Tidal Volume (IV) Deficiency of
oxygen at tissue
level

(1) L-IV, M-I, N-II, O-TIT
(2) L-IV, M-I, N-III, O-I
(3) L-IV, M-IIL, N-I, O-II
(4) LTI, M-IV, N-II, O-1
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145. Heas gRE© By & St @ 145. Fartlake training method is used to
frepftra 2t & - develop :
(1) gifera (2) T (1) Strength (2) Flexibility
(3) TeAsfimar  (4) WA (3) Endurance (4) Speed
146. X T 99 dH B SEREN] 146. Which form is used to draw fixtures
Sie M & fou feEer WA e with suitable pairings ?
S ® 7
(1) =1 (2) | (1) Bye (2) Seeding
(3) T (4) YT BH 3) N (4) Upper Half
147. g & TiEusl e § 147. The heart muscle is called :
(1) TeEeam  (2) AqHEaq (1) Endocardium (2) Mesocardium
(3) ARSI (4) AFRTeTH (3) Myocardium (4) Monocardium
148. ST § To To Tdo 9 7 ad ® 7 148. In dopping A. A. S. stands for :
(1) TgN® TAEIcE ©as (1) Androgenic Anabolic Steroids
(2) TATENfeRp TS TS (2) Anabolic Acid Steroids
(3) TR TgNih ©as (3) Anabolic Androgenic Steroids
4) Teifed THTEIES a8 (4) Athletic Anabolic Steroids
149. 9 MEEOT @t foQar 2 : 149. Self-control is the characteristic of :
(1) 9 e (1) Mental Health
(2) | e (2) Social Health
(3) HIR® @ (3) Physical Health
(4) SEATHS w@reed (4) Spiritual Health
150. 9l HAfFT &1 @reeA q%r_clT’f g 9 150. Health of a person is significantly
e 2 ® ¢ influenced by :
(1) ST 30 (2) S &) (1) Attitude (2) Lifestyle
(3) =@t a0 (4) AT B} (3) Routine (4) Aptitude

Level-2/201


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

% %4 3 T (FOR ROUGH WORK)

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

R @& @
I TF F RN GHEF B 9K 3§l SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :
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The answer will be treated wrong;, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.
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provided in the Question Booklet for the same.)
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(white fluid) is not allowed for changing answers.)
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Sheet. The answer once marked is not allowed to be changed.)
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i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B AFGEF T B, Fis HE A Rk § (97-gRaw o SR =% F FHE § e @ Rafy
& W) {H’ﬁ g+ W e Iueer T WI% GlTQ‘ﬂI (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)
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YoR, MeEA B, Foaslies SUBLT A Rl SF UK & |l Bl @ S a1 IWAM HIA @ TgHI 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

TEE BT 98 TN W T&F Tl oo waw 1 (e Fo) &R Wew™ UH f@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THdEE AT AT $ O FE TRl STUAT WM A B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)
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¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & U, orweEll feRlE & & T ube/Rean-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T w e A » e wd e @ BRI (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ‘[—SFFIEF[ IR TR =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)
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S HEd R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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